
 

 

KT= KF+KA 

KT=400+576+39+180+536+304+14.400+1000+12.500+4320+35.000= 

69.255€/lehenengo hilabetean 

 

 

 

Lehenengo 

hilabeteko 

datuak 

Kostu finkoak  Kostu aldakorrak 

Lokalaren 

alokairua  

400€    

Argia    576€ 

Ura    39€ 

Kalefakzioa    180€ 

Koadro 

elektrikoaren 

balioa 

  12500€ 

Transportea    536€ 

Furgoneten 

alokairua 

  304€ 

Soldatak 

(lokalean lan   

egiten 

dutenak) 

1.200€ x 12 langile= 

14.400€ 

 

Asegurua  1000€   

Gizarte 

segurantza 

4320€   

App-a  35.000€   



 

KT= KF+KA 

KT=4.800+6.912+468+2.160+150.000+6.432+3.648+172.800+12.000+51.840= 411060€ 

 

Emaitza ekonomikoa urte batean= diru sarrerak (DS)-kostu totalak (KT)= 

400.000-411.060€ =​ -11.060 

 

 

 

 

Lehenengo 

urteko datuak 

Kostu finkoak  Kostu aldakorrak 

Lokalaren 

alokairua  

4.800€   

Argia    6.912€ 

Ura    468€ 

Kalefakzioa    2.160€ 

Koadro 

elektrikoaren 

balioa 

  150.000€ 

Transportea    6432€ 

Furgoneten 

alokairua 

3.648€   

Soldatak 

(lokalean lan   

egiten dutenak) 

172.800€   

Asegurua  12.000€   

Gizarte 

segurantza 

51.840€   

Irratiko 

iragarkia (6 

hilabetean 

behin 

ordaindu) 

5000x2=10.000€   


